000 «IOHUCOB-CEPBHUC»
tei./pakc (499) 159-50-64, 740-89-45

SMC-108 TECTEP JABJIEHUS B TOPMO3HON CUCTEME

Wcnonb3yercst nisi: - aHTHOIOKUPOBOYHBIX CUCTEM

- cucrem 6e3 ABC
IHNEPEYEHDb AJJAIITEPOB
HopsakoBbii HNirocTpanus Onucanne Koa-Bo
HOMEp

108-1 Manowmertp (tumn: TM- | 2 mr.
310P, ceptudukar
RU.C.30.004.A
Ne33358) B cbope

108-2-90 IToBopoTHsbI# anantep | 1 mT.
90"

108-2-45 IToBopoTHsbI#i anantep | 1 mT.
45°

108-3 Apanrep ¢ 1 mr.
HapYKHBIMA
pe3bbamu M8x1 u
7/16”-20NF mnuHoi
125 mm

108-4 Apanrep ¢ 1 .

BHYTpEHHEHN pe3b00ii
M14x1,5, HapyxHol
pe3nrboit M14x1,5 n
YTJIOBBIM IITYIIEPOM
mnHoi 202 MM




108-6

108-7

108-8

Apnanrep ¢
HaPYKHBIMH
pe3bbamu 7/16”-20NF
u 7/16”-20NF

Ananrep ¢
Hapy>KHBIMH
pe3bbamu 7/16”-20NF
u 3/8”-24NF

Apanrep ¢
Hapy>KHBIMH
pe3bbamu 7/16”-20NF
u 5/16”-24NF

108-9

108-10

Ananrep ¢
Hapy>KHBIMH
pe3bbamu 7/16”-20NF
u 1/4”-28NF

AnanTep ¢ Hapy>KHOI
pe3rboit M10x1,5,
7/16”-20NF

108-11

108-12

108-13

=l 2= =l=

AnanTep ¢ Hapy>KHOI
pe3nrboit M10x1,
7/16”-20NF

AnanTep ¢ Hapy KHOU
pe3bboit M8x1,25,
7/16”-20NF

2 1IT.

AnanTep ¢ Hapy>KHOI
pe3bboit M7x1,0,
7/16”-20NF




